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QUESTION 1

Given the code fragment: 
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What is the result? 

A. 10 20 10 15 20 

B. A runtime exception is thrown. 

C. 10 20 10 20 

D. A compilation error occurs. 

Correct Answer: D 

 

 

QUESTION 2

Given: 
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What is the output? 

A. 1 2 3 aaaa 

B. 1 2 aaa 

C. Compilation fails 

D. a 

Correct Answer: D 

 

 

QUESTION 3
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Given the code fragment: 

Which statement is true? 

A. The code results in a compilation error. To make it compile, insert at line n1: import java.lang.Math; import
java.lang.Random; 

B. The code compiles successfully 

C. The code results in a compilation error. To make it compile, insert at line n1: import java.lang; import java.util; 

D. The code results in a compilation error. To make it compile, insert at line n1: import java.util.*; 

Correct Answer: B 
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QUESTION 4

Identify three features of the Java programming language. 

A. distributed 

B. direct memory management 
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C. multithreaded 

D. strongly typed 

E. dynamically typed 

Correct Answer: ACE 

Reference: https://www.tutorialspoint.com/What-are-the-major-features-of-Java-programming 

 

QUESTION 5

Which two Java reserved words are used to implement encapsulation? 

A. final 

B. static 

C. public 

D. extends 

E. private 

Correct Answer: CE 

Reference: https://learn.saylor.org/mod/page/view.php?id=22044 
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